
 Accessories

Accessories - Cable clips and trays

Accessories - Brackets for inverter / combiner box

Accessories - Rail caps

EZ-CC-R/ST/6	

EZ-CAP-ST

EZ-CC-PV/2 EZ-CC-PV/4 

Cale Clip for ST- and PRO-Rail
- hold up to 6 cables

Cap for Standard Rail

Universal Cable Clip for PV Panels for 
holding 2 cables

Universal Cable Clip for PV Panels for 
holding 4 cables

– Universal Cable Clip for PV Panels for 
   holding 2 cables

– Universal Cable for PV Panels for 
   holding 4 cables  
   31.6 x 18.2 x T0.5mm 
   (1-1/4" x 23/32" x T1/64")

EZ-UB-STIIIA

Accessories - Rubber pads

ER-DM-MT8     

EZ-UB-STIIA EZ-RT-60/60/740

ER-R-C41/61/800

EZ-Z-ST

SolarTerrace III-A, Bracket kit for 
Inverter / Combiner Box

SolarTerrace II-A, Bracket kit for 
Inverter / Combiner Box

Slotted Al-Tube for Bracket kit for 
Inverter / Combiner Box

C-Channel  for Bracket kit for 
Inverter / Combiner Box

Z-Module

– Slotted Al-Tube 60 x 60 x 740mm 
   (2-23/64" x 2-23/64" x2' 1-13/64")

– 41 x 62 x 800mm 
(1-39/64" x 2-7/16" x 2' 7-1/2")

– U-Fixing Bracket for Tube 
   60 x 60mm (2-23/64" x 2-23/64")
– T-head bolt M8 x 25mm (5/16" x 63/64")
– Plain washer large 
   8 x 24mm (5/16" x 53/64")
– Washer 8mm (5/16")
– Hexagon nut  M8 (5/16")
– Self-drilling screw ST6.3 x 25mm 
   (1/4" x 63/64")

– U-Fixing Bracket for Tube 
   60 x 60mm (2-23/64" x 2-23/64")
– T-head bolt M8 x 25mm (5/16" x 63/64")
– Plain washer large 
   8 x 24mm (5/16" x 53/64")
– Washer 8mm (5/16")
– Hexagon nut  M8 (5/16")

Diamond module M8 with Hexagon 
Socket bolt M8x20 (for AU)


